Chainagewise Calculation of Forest Land Area for Proposed Diversion & Remaining Forest Land Area

Remaining forest

Existing |Existing Road Proposed Road land width after  |Remaining forest land Total Area
S.No. [Existing Chainage [Length |[ROW Width Width Proposed Protected Forest Proposed PF area Total widening width after widening area |(Sqm)
LHS RHS LHS RHS LHS RHS LHS RHS LHS RHS LHS RHS
1 92.547 t0 92.847 | 300.00 [ 30.00 10.00 10.00 10.00 - 5.00 - 300.00x5.00 - 1500.0 - 5.00 - 5x300 1500.00
4 192.847 to0 93.953 1106.00( 30.00 6.00 6.00 8.50 8.50 [1106x2.50 1106x2.50 2765.00 |2765.00 5530.0 6.50 6.50 |6.50x1106.00| 6.50x1106.00] 7189.00
93.953 to 97.864 3911 Width Bypass in Private Land is 30M Non Forest area = 30x3911 =11733SQN =11.733Ha

5 ]97.864 t097.894 30.00 30.00 6.00 6.00 - 12.5 30x6.50 195 195.0 9] 1.50 [9x30 9x1.5 288.00
10 - 7225.0 8977
0.7225Ha 0.8977Ha
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